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Blood Relation

Family or Blood Relationship means persons connected by relations like –
 father-mother, son daughter, brother-sister, grandfather-grandmother, uncle-aunty, 
nephew-niece, brother-in-law sister-in-law etc. The list can go on and on adding 
members from father’s side and mother’s side etc.

Questions in Test of Reasoning on Family /Blood Relationship are about the 
relationship of a particular person with another person of the family, based on the 
chain of relationships between other members of that family.

Family/Blood Relation Tests are an exercise to test the candidate’s ability to 
comprehend and come to the crux of an issue from complex, lengthy and unclear 
data.

Example 1: ‘Ram’ is the father of ‘Kusha’ but ‘Kusha’ is not his son. ‘Mala’ is the 
daughter of ‘Kusha’.’Shalaka’ is the spouse of ‘Ram’. ‘Gopal’ is the brother of ‘Kusha’. 
‘Hari’ is the son of ‘Gopal’. ‘Meena’ is the spouse of ‘Gopal’. ‘Ganpat’ is the father of 
‘Meena’. Who is the granddaughter of ‘Ram’?

(1) Hari

(2) Mala

(3) Meena

(4) Shalaka

Solution:

‘Mala’ is the daughter of ‘Kusha’ and ‘Ram’ is the father of ‘Kusha’. So, ‘Mala’ is the 
granddaughter of ‘Ram’. Hence, the answer is (2) Mala.

Some Common Terms

Meaning of some terms often used in questions on the family relationship 
are given below:

a) Parent – Mother or father

b) Child – Son or daughter (even if an adult)

c) Sibling – Brother or sister (Including half brother and half sister - one parent in
common)

d) Spouse – Husband or wife

Basic Relationships:-
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Aunt, Uncle, Niece, and Nephew

Most English speakers use “uncle” for any of four relationships: father’s 
brother, mother’s brother, father’s sister’s husband, or mother’s sister’s 
husband.
Again, “aunt” in English could mean father’s sister, mother’s sister, father’s 
brother’s wife, or mother’s brother’s wife.
Brother’s or sister’s son is called nephew. Brother’s or sister’s daughter is 
called niece.
Children of aunt or uncle are called cousins.

Relationships Involving the Term ‘-in-law’

General

 Any relationship term ending with -in-law indicates that the relationship is by 
marriage and not by blood. In other words, -in-law will be a blood relative of 
the spouse.
In-law relationship terms are always written with hyphens. And the plural is 
formed on the part before the “-in-law”;

For example, “brothers-in-law” and not “brother-in-law”. The only exception is the 
general term “in-laws”, which is always plural.

Father-in-law, Mother-in-law, Son-in-law and Daughter-in-law

 Father-in-law is the father of spouse; mother-in-law is the mother of spouse. 
If parents get divorced and remarry, their new spouses are called stepparents, 
not mother-in-law and father-in-law.
The husband of daughter is son-in-law; the wife of son is daughter-in-law. If 
spouse has children from a previous marriage, those are called stepchildren, 
not sons-in-law or daughters-in-law. The person is their stepfather or 
stepmother, not their father-in-law or mother-in-law.

Brother-in-law and Sister-in-law

 Brother-in-law” and “Sister-in-law” each have two or three meanings 
as follows:

a) Sister-in-law could be

i) The sister of spouse, or

ii) The wife of brother, or

iii) The wife of spouse’s brother.

b) Similarly, Brother-in-law could be
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i) The brother of spouse, or

ii) The husband of sister, or

iii)  The husband of spouse’s sister.

Relationships Involving the Terms ‘Grand’ and ‘Great’

 The relationships of the second generation are prefixed with the word Grand.
Similarly, for a person, the first generation above him would be that of his/her 
parents (Father/ Mother). The next/second generation above him/her would 
be the parents of the parents who would be called Grand Parents/ Grand 
Father/ Grand Mother of that person. The next/ third generation parents would 
be called Great Grand Parents/ Great Grand Father/ Great Grand Mother of 
that person.
This also applies to the collateral relationships.

For example Son of nephew of a person is called Grand Nephew; Brother of Grand 
Father is called Grand Uncle and so on.

The fourth generation relationships are called Great Great Grand. For example, 
Son of Great Grand Son is Great Great Grand Son.

There are two ways Martha could have a stepsister:

a) If Martha’s mother marries second time, and her new husband (Martha’s new 
stepfather) already has a daughter from a previous marriage, that daughter is 
Martha’s stepsister because one of her parents is married to one of Martha’s 
parents.

b) If Martha’s father marries second time, and his new wife already has a daughter, 
that daughter is again Martha’s stepsister.

Summary of Some Common Relationships

Summary of some common Relationships is given below in tabular forms:

Details of Relationship Relation

Mother’s or Father’s son Brother

Mother’s or Father’s daughter Sister

Mother’s or Father’s father Grandfather
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Mother’s or Father’s mother Grandmother

Son’s wife Daughter-in-law

Daughter’s husband Son-in-law

Husband’s or Wife’s sister Sister-in-law

Husband’s or Wife’s brother Brother-in-law

Brother’s or Sister’s son Nephew

Brother’s or Sister’s daughter Niece

Uncle or Aunt’s daughter or son Cousin

Brother’s wife Sister-in-law

Sister’s husband Brother-in-law

Grandson’s or Granddaughter’s son Great Grandson

Grandson’s or Granddaughter’s daughter Great Granddaughterwww.jk
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Instructions
For the following questions answer them individually

Question 1

Ramesh has brother Suresh. Ramesh is the son of Gopal. Govind is Gopal’s father. How is Suresh related to Govind?

A    Son

B    Brother
C    Grandson

D    Grandfather

Answer: C

Explanation:
Ramesh and Suresh are brothers and Ramesh is the son of Gopal

> Suresh is also the son of Gopal.

Also, Govind is Gopal s father, > Govind is the grandfather of Suresh.

 Suresh is the grandson of Govind.

> Ans - (C)

Question 2

Introducing a man, a woman said “His mother is the only daughter of my father”. How is the man related to the woman?

A    Brother

B    Son

C    Father

D    Uncle

Answer: B

Explanation:
Only daughter of the woman's father is the woman herself.

Now, the woman is the man's mother, > The man is the son of that woman.

> Ans - (B)

Question 3

Nitya is Sam’s sister. Mogan is Sam’s father. Selvan is Rajan’s son. Rajan is Mogan’s brother. How is Nitya related to Selvan ?

A    Daughter

B    Sister

C    Cousin

D    Wife

Answer: C

Explanation:
Nitya is Sam s sister and Mogan is Sam s father.

> Mogan is the father of Sam and Nitya.

∴

Blood Relation
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Rajan is Mogan s brother and Selvan is Rajan s son. 

Thus, Nitya and Selvan are cousins.

> Ans - (C)

Question 4

A man said to a lady “Your mother’s husband’s sister is my aunt”. How is the lady related to man ?

A    Sister

B    Mother

C    Daughter

D    Granddaughter

Answer: A

Explanation:
The lady's mother s husband s sister is that lady's aunt.

Now, according to ques, the man has also the same aunt.

Thus, they are both brothers and sisters.

> Ans - (A)

Question 5

Johnny's father is the brother-in-law of Nisha's only sister. How is Johnny related to Nisha?

A    Son

B    Grandson

C    Father

D    Cousin

Answer: A

Explanation:
Johnny's father is the brother-in-law of Nisha's only sister.

Relation is :

Thus, Johnny is Nisha's son.

> Ans - (A)
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Question 6

Introducing a boy, a girl said, "He is the son of the sister of my mother's brother". How is that boy related to that girl?

A    Cousin

B    Uncle

C    Father-in-law

D    Niece

Answer: A

Explanation:
Sister of the girl's mother's brother  girl's aunt

Now, the boy is son of girl's aunt.

> Boy and girl are cousins.

> Ans - (A)

Question 7

Introducing a boy, a girl says, "He is the son of the sister of my mother's brother." How is the boy related to the girl?

A    Cousin

B    Brother-in-law

C    Father-in-law

D    Niece

Answer: A

Explanation:
Sister of the girl's mother's brother  girl's aunt

Now, the boy is son of girl's aunt.

> Boy and girl are cousins.

> Ans - (A)

Question 8

Introducing a boy, Amar says, "He is the son of the only daughter of my maternal grandmother." How is the boy related to Amar?

A    Cousin

B    Brother

C    Father-in-law

D    Nephew

Answer: B

Explanation:
Only daughter of Amar's maternal grandmother  Amar's mother

Relation is :

www.jk
ch

rom
e.c

om

7 www.jkchrome.com www.jkchrome.com www.jkchrome.com



Thus, Amar and the boy are brothers.

> Ans - (B)

Question 9

Pointing towards a lady in a photograph, a girl says, "Vidit's grandmother is the mother-in-law of this lady". How is the lady in the
photograph related to Vidit?

A    Mother

B    Sister

C    Aunt

D    Cannot be determined

Answer: D

Explanation:
Let 'X' is Vidit's grandmother, now 'X' is also the mother-in-law of the given lady.

Thus, the lady is either Vidit's mother or his aunt.

> Relation cannot be determined.

> Ans - (D)

Question 10

Introducing a boy, Amar said, "He is the son of my maternal grandfather's son." How is that boy related to Amar?

A    Maternal uncle

B    Nephew

C    Brother

D    Cousin

Answer: D

Explanation:
Amar's maternal grandfather's son  Amar's uncle

Now, the boy is son of Amar's uncle,

> Amar and the boy are cousins.

> Ans - (D)

Question 11

Choose the related word/letters/number from the given alternatives. Horse : Neigh : : Elephant : ?

A    Quack

B    Trumpet
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C    Mew

D    Grunt

Answer: B

Explanation:
Expression  Horse : Neigh : : Elephant : ?

The second is the sound made by the first. Sound made by horse is neigh, similarly an elephant trumpets.

> Ans - (B)

Question 12

Introducing a boy Ankit said," He is the son of daughter of my grandfather's son". How is that boy related to Ankit?

A    Cousin

B    Brother

C    Father-in-law

D    Nephew

Answer: D

Explanation:
Daughter of Ankit's grandfather's son  Ankit's sister

Relation is :

Thus, the boy is Ankit's nephew.

> Ans - (D)

Question 13

Nisha's father's brother-in-law is the brother of Neha. How is Nisha related to Neha?

A    Sister

B    Niece

C    Mother

D    Mother in law

Answer: B

Explanation:
Nisha's father's brother-in-law is the brother of Neha.
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Relation is :

Nisha is Neha's niece.

> Ans - (B)

Question 14

Pointing a man, Suraj says, "He is the son of the sister of my father's wife". How is that man related to Suraj?

A    Father

B    Brother

C    Cousin

D    Nephew

Answer: C

Explanation:
Sister of Suraj's father's wife  Suraj's aunt

Relation is :

Thus, the man and Suraj are cousins.

> Ans - (C)

Question 15

Introducing a boy, Amarjeet says, "He is the son of the daughter of my father." How is boy related to the Amarjeet?

A    Nephew

B    Maternal uncle

C    Son

D    Cousin

Answer: A

Explanation:
Daughter of Amarjeet's father  Amarjeet's sister

Now, the boy is son of Amarjett's sister, > Amarjeet is the boy's uncle.

> The boy is Amarjeet's nephew.

> Ans - (A)
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Blood Relations Questions and Answers 
 
Q 1.​ Introducing a boy to her mother, Richa said that he is the son of the daughter of the father of her 
uncle. How is Richa related to the boy? 

1. Brother-in-law 
2. Brother 
3. Father 
4. Uncle 
5. Son 

Answer: (2) Brother 
Solution: 
Father 
↕ 
Uncle ↔ Mother 

       ↕ 
    Son ↔ Richa 

Where ↕ defines children, ↔ defines siblings 
 
Q 2.​ Ejaz is the son of Kismat. Bharat is the brother of Dharmesh and Garima is Dharmesh’s daughter. 
Kismat is married to Dharmesh. Fatima is the maternal aunt of Ejaz. What is the relation between 
Bharat and Ejaz? 

1. Uncle & Nephew 
2. Brothers 
3. Father & Son 
4. Father-in-law & Son-in-law 
5. None of the above 

Answer: (1) Uncle & Nephew 
Solution: 
Fatima ↔ Kismat ∼ Dharmesh ↔ Bharat 
        ↕ 

     Ejaz ↔ Garima 
 
Where ↕ defines children, ↔ defines siblings, ∼ defines a married couple 
 
Directions (Q3 - Q5): ​Study the information given below carefully and accordingly answer the following 
questions: 
A+B means A is married to B  
A-B means A is sister of B 
A*B means A is brother of B 
A×B means A is father of B 

 

www.jk
ch

rom
e.c

om

11 www.jkchrome.com www.jkchrome.com www.jkchrome.com



 
 
 
Q 3.​ Based on the equation given below, how is J related to I? 
K * J × L + I * P 

1. Mother 
2. Father 
3. Mother in law 
4. Father in law 
5. Sister 

Answer: (4)  
Solution: Father in law 
K​+​ ↔ J​+ 

        ↕ 
        L​-​ ∼ I​+​ ↔ P 
Where ↕ defines children, ↔ defines siblings, ∼ defines a married couple, + defines male, - defines 
female 
 
Q 4.​ Based on the equation given below, how is S related to T? 
T + R * S + U × H 
A+B means A is married to B  
A-B means A is sister of B 
A*B means A is brother of B 
A×B means A is father of B 

1. Sister 
2. Mother 
3. Sister-in-law 
4. Brother 
5. Father 

Answer: (3) Sister-in-law 
Solution: 
T​-​ ∼ R​+​ ↔ S​-​ ∼ U​+ 

  ↕ 
  H 

Where ↕ defines children, ↔ defines siblings, ∼ defines a married couple, + defines male, - defines 
female 
 
Q 5.​ Based on the given equation, find how is U related to X? 
Y + Z - U * S + X * R 

1. Brother 
2. Mother 
3. Grandfather 
4. Sister 
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5. Bother-in-law 
Answer: (5) Bother-in-law 
Solution: 
Y ∼ Z​-​ ↔ U​+​ ↔ S​-​ ∼ X​+​ ↔ R 
Where ↕ defines children, ↔ defines siblings, ∼ defines a married couple, + defines male, - defines 
female 
 
Q 6.​ Ajit pointed at Abhijeet and said “I am the only son of one of the sons of his father.” How is Ajit 
related to Abhijeet? 

1. Brother 
2. Grandfather 
3. Nephew 
4. Brother-in-law 
5. None of the above 

Answer: (5) None of the above 
Solution: ​Ajit is either the Father or Uncle of Abhijeet 
 
Q 7.​ While looking at old photographs, Sangeeta came across a photo and pointing towards a boy in it, 
Sangeeta said “He is the only son of the only daughter of my Grandfather.” How is Sangeeta related to 
that boy?  

1. Mother 
2. Daughter 
3. Sister 
4. Grandmother 
5. Niece 

Answer: (3) Sister 
Solution: 
Grandfather 
         ↕ 
Boy’s Mother 
         ↕ 
       Boy ↔ Sangeeta 
 
Directions (Q8 - Q11): ​Study the information given below and answer the following questions: 
A family comprises seven members of which there are two couples. These seven members include A, 
B, C, D, E, F and G. C is the sister of B. A is the father of F and E is the brother of F and F is a female. 
G is the mother of B. D is the mother in law of G. 
 
Q 8. ​How is G related to A? 

1. Daughter-in-law 
2. Daughter 
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3. Brother 
4. Neice 
5. Grandfather 

Answer: (1) Daughter-in-law 
 
Q 9. ​How is E related to C? 

1. Father 
2. Mother 
3. Sister 
4. Grandparent 
5. Uncle 

Answer: (1) Father 
 
Q 10. ​What is the relation between B and D? 

1. D is father of B 
2. B is the brother of D 
3. B and D are cousins 
4. B is Grandson of D 
5. D is the Grandmother of B 

Answer: (4) B is Grandson of D 
 
Q 11.​ How is F related to B? 

1. Uncle 
2. Nephew 
3. Grandson 
4. Aunt 
5. Sister 

Answer: (4) Aunt 
 
Solution (Q8 - Q11): 
          A​+​ ∼ D​- 

          ↕ 
 F​-​ ↔ E​+​ ∼ G​- 

           ↕ 
  C ↔ B​+ 

Where ↕ defines children, ↔ defines siblings, ∼ defines a married couple, + defines male, - defines 
female 
 
Directions (Q12 - Q15): ​Refer to the details given below and answer the questions following it: 
A family comprising 6 people lives in the same flat. There are two couples in the family.  
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● The Engineer is the head of the family and has only two sons - Harish and Honey and both 
Lawyers 

● Mrs Renu and her mother-in-law both are Engineers 
● Harish's wife is a Scientist and they have a son, Lalit 

 
Q 12.​ What is the professions of Harish’s wife? 

1. Engineer 
2. Scientist 
3. Lawyer 
4. Cannot be determined 
5. None of the above 

Answer: (2) Scientist 
 
Q 13. ​How is Lalit related to Renu? 

1. Son 
2. Grandson 
3. Nephew 
4. Brother 
5. Brother-in-law 

Answer: (3) Nephew 
 
Q 14.​ What is the profession of Honey’s wife? 

1. Lawyer 
2. Engineer 
3. Scientist 
4. Doctor 
5. None of the above 

Answer: (2) Engineer 
 
Q 15. ​Which of the given statement is incorrect with respect to the blood relation given here? 

1. The head of the family is female 
2. Renu is Honey’s wife 
3. Harish is the husband of an Engineer 
4. Honey is married to Engineer 
5. Lalit is Harish’s son 

Answer: (3) Harish is the husband of an Engineer 
Solution (Q12 - Q15):  
 
 Engineer​- 

     ↕ 
(Scientist)​-​ ∼ Harish​+​ (Lawyer) ↔ Honey​+​ (Lawyer) ∼ Renu​-​ (Engineer) 
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     ↕ 
 Lalit​+ 

 
Where ↕ defines children, ↔ defines siblings, ∼ defines a married couple, + defines male, - defines 
female   
 
Directions (Q16 - Q18): ​Study the given information and answer the following questions: 
A family is planning an International vacation and six members of the family have agreed to go on this 
trip. The six members of the family are A, B, C, D, E and F. 

● A and C is a married couple and they have a child B 
● C is not the mother of B 
● E is the brother of C 
● F is the brother of B and D is the daughter of A 

  
Q 16.​ Which of the given statements is incorrect? 

1. E is the Brother-in-law of A 
2. D is the sister of F 
3. F is male 
4. A is female 
5. None of the given statements is incorrect 

Answer: (3) F is male 
 
Q 17. ​How is D related to F? 

1. Niece 
2. Sister 
3. Mother 
4. Grandmother 
5. Daughter-in-law 

Answer: (2) Sister 
 
Q 18. ​How is E related to F? 

1. Father 
2. Uncle 
3. Aunt 
4. Mother 
5. Sister 

Answer: (2) Uncle 
 
Solution (Q16 - Q18): 
A​-​ ∼ C​+​ ↔ E​+ 

      ↕ 
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D​-​ ↔ B ↔ F​+ 

Where ↕ defines children, ↔ defines siblings, ∼ defines a married couple, + defines male, - defines 
female  
 
Directions (Q19 - Q22): ​Study the information given below carefully and based on it answer the 
following questions: 
In a family of 6 people, all the people are of different professions. There are two married couples in the 
family 

● The six people in the family are A, B, C, D, E and F 
● There professions are Lawyer, Teacher, Salesman, Doctor, Engineer and Accountant but not in 

the same order 
● The Salesman, D is married to the one who is Teacher by profession 
● Doctor and Lawyer are a married couple 
● Teacher is female and A’s daughter-in-law is Lawyer 
● F is the son of B and brother of E and is Accountant by profession 
● E is an Engineer and is unmarried 
● C is the daughter-in-law of A 
● A is the grandmother of F 

 
Q 19. ​What is the profession of the person married to C? 

1. Doctor 
2. Salesman 
3. Teacher 
4. Engineer 
5. Accountant 

Answer: (1) Doctor 
 
Q 20. ​How is E related to A? 

1. E is the grandson of A 
2. E is the granddaughter of A 
3. E is the son of A 
4. E and A are siblings 
5. Cannot be determined 

Answer: (5) Cannot be determined 
 
Q 21. ​Which of the given statements is correct? 

1. B is a Doctor by profession 
2. C is the mother of F 
3. D is male 
4. A is the Grandmother of F 
5. All the statements are correct 
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Answer: (5) All the statements are correct 
 
Q 22.​ What is the profession of A? 

1. Teacher 
2. Doctor 
3. Salesman 
4. Lawyer 
5. Engineer 

Answer: (1) Teacher 
 
Solution (Q19 - Q22):  
A​-​ (Teacher) ∼ D​+​ (Salesman) 
↕ 
B​+​ (Doctor) ∼ C​-​ (Lawyer) 
↕ 
F​+​ (Accountant) ↔ E (Engineer) 
Where ↕ defines children, ↔ defines siblings, ∼ defines a married couple, + defines male, - defines 
female  
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SRE–135

TYPE–I

1. A is B’s daughter. B is C’s mother.
D is C’s brother. How is D related
to A ?
(1) Father (2) Grandfather
(3) Brother (4) Son

(SSC Combined Graduate Level Prelim
Exam. 04.07.1999 (Ist Sitting)

2. P is Q’s brother. R is Q’s mother.
S is R’s father. T is S’s mother.
How is P related to T ?
(1) Granddaughter
(2) Great grandson
(3) Grandson
(4) Grandmother

(SSC Combined Graduate Level Prelim
Exam. 04.07.1999 (IInd Sitting)

3. A is B’s brother. C is D’s father.
E is B’s mother. A and D are
brothers. How is E related to C?
(1) Sister (2) Sister-in-law
(3) Niece (4) Wife

(SSC Combined Graduate Level Prelim
Exam. 24.02.2002 (Ist Sitting)

4. A is the sister of B. B is the
brother of C, C is the son of D.
How is D related to A?
(1) Mother (2) Daughter
(3) Son (4) Uncle

(SSC Combined Graduate Level Prelim
Exam. 24.02.2002 (IInd Sitting)

5. B is is the brother of A, whose
only sister is mother of C. D is
maternal grandmother of C. How
is A related to D ?
(1) Daughter-in-law
(2) Daughter
(3) Aunt
(4) Nephew

(SSC Combined Graduate Level Prelim
Exam. 24.02.2002 (Middle Zone)

6. A and B are sisters. R and S are
brothers. A’s daughter is R’s sis-
ter. What is B’s relation to S ?
(1) Mother (2) Grandmother

(3) Sister (4) Aunt
(SSC Combined Graduate Level Prelim

Exam.11.05.2003 (Ist Sitting)

7. E is the sister of B. A is the father
of C. B is the son of C. How is A
related to E ?
(1) Grandfather
(2) Granddaughter
(3) Father
(4) Great-grandfather

(SSC Combined Graduate Level Prelim
Exam.11.05.2003 (Ist Sitting)

8. A is B’s brother, C is A’s mother,
D is C’s father, E is B’s son. How
is D related to A ?
(1) Son (2) Grandson
(3) Grandfather
(4) Great Grandfather

(SSC CPO Sub-Inspector
Exam. 07.09.2003)

9. Given that
A is the mother of B
C is the son of A
D is the brother of E
E is the daughter of B
Who is the grandmother of D ?
(1) A (2) B
(3) C (4) D

(SSC Combined Graduate Level Prelim
Exam. 08.02.2004 (IInd Sitting)

10. A is D’s brother. D is B’s father.
B and C are sisters. How is A
related to C ?
(1) Son (2) Grandson
(3) Father (4) Uncle

(SSC CPO Sub-Inspector
Exam. 05.09.2004)

11. A is B’s sister, C is B’s mother, D
is C’s father, E is D’s mother, then
how A is related to D ?
(1) Grandfather
(2) Daughter (3)Grandmother
(4) Grand daughter

(SSC CPO Sub-Inspector
Exam.26.05.2005)

12. (I) F is the brother of A,
(II) C is the daughter of A,
(III) K is the sister of F,
(IV) G is the brother of C.
Who is the uncle of G ?
(1) A (2) C
(3) K (4) F

(SSC Combined Graduate Level Prelim
Exam.13.11.2005 (Ist Sitting)

13. Az is B’s brother. C is A’s father.
D is C’s sister and E is D’s moth-
er. How is B related to E ?
(1) Granddaughter
(2) Great-granddaughter
(3) Grandaunt
(4) Daughter

(SSC CPO Sub-Inspector
Exam.16.12.2007)

14. A is father of C and D is son of
B. E is brother of A. If C is sister
of D how is B related to E ?
(1) Sister – in – law
(2) Sister (3) Brother
(4) Brother – in – law

(SSC Combined Graduate Level Prelim
Exam. 27.07.2008 (Ist Sitting)

15. C is wife of B, E is the son of C,
A is the brother of B and father
of D. What is the relationship of
E to D ?
(1) Mother (2) Sister
(3) Brother (4) Cousin

(SSC Combined Graduate Level Prelim
Exam. 27.07.2008 (IInd Sitting)

16. M is the son of P. Q is the grand-
daughter of O who is the hus-
band of P. How is M related to
O ?
(1) Son (2) Daughter
(3) Mother (4) Father

(SSC Combined Graduate Level Tier-1
Exam.16.05.2010 (Ist Sitting)

17. X and Y are brothers. R is the
father of Y. S is the brother of T
and maternal uncle of X. What is
T to R?
(1) Mother (2) Wife
(3) Sister (4) Brother

(SSC Combined Graduate Level Tier-1
Exam.16.05.2010 (IInd Sitting)

18. A is B’s Sister. C is B’s Mother. D
is C’s Father. E is D’s Mother.
Then how is A related to D ?
(1) Grandmother
(2) Grandfather
(3) Daughter
(4) Granddaughter

(SSC SAS Exam. 26.06.2010 (Paper-I)
19. A is father of B and C.

B is the son of A.
But C is not the son of A.

BLOOD RELATIONSHIP
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How is C related to A ?
(1) Niece (2) Son-in-law
(3) Daughter (4) Grandson

(SSC CISF ASI Exam. 29.08.2010
(Paper-I)

20. A is the father of B, C is the
daughter of B, D is the brother
of B, E is the son of A. What is the
relationship between C and E ?
(1) Brother and sister
(2) Cousins
(3) Niece and uncle
(4) Uncle and aunt

(SSC CPO Sub-Inspector
Exam. 12.12.2010 (Paper-I)

21. If P is the husband of Q and R
is the mother of S and Q, what
is R to P ?
(1) Mother (2) Sister
(3) Aunt (4) Mother-in-law

(SSC CPO (SI, ASI & Intelligence Officer)
Exam. 28.08.2011 (Paper-I)

22. P and Q are brothers, R and S
are sister P’s son is S’s brother.
How is Q related to R ?
(1) Uncle (2) Brother
(3) Father (4) Grandfather

(SSC Combined Matric Level (PRE)
Exam. 24.10.1999 (Ist Sitting)

23. X is the husband of Y. W is the
daughter of X. Z is husband of
W. N is the daughter of Z. What
is the relationship of N to Y ?
(1) Cousin (2) Niece
(3) Daughter (4) Granddaughter

(SSC Combined Matric Level (PRE)
Exam. 24.10.1999 (IInd Sitting)

24. ‘A’ reads a book and find the name
of the author familiar. The author
‘B’ is the paternal uncle of ‘C’. ‘C’
is the daughter of  ‘A’. How is ‘B’
related to ‘A’?
(1) Brother (2) Sister
(3) Father (4) Uncle

(SSC Combined Matric Level (PRE)
Exam. 21.05.2000 (Ist Sitting)(East Zone)

25. A’s mother is sister of B and she
has a daughter C who is 21 years
old. How is B related to C?
(1) Uncle
(2) Maternal Uncle
(3) Niece
(4) Daughter

(SSC Combined Matric Level (PRE)
Exam. 21.05.2000 (Ist Sitting)

(Raipur, Madhya Pradesh)
26. A  is B’s brother, C is A’s mother,

D is C’s father, F is A’s son. How
is F related to D ?

(1) Son
(2) Grandson
(3) Great grandson
(4) Grand–daughter

(SSC Combined Matric Level (PRE)
Exam. 05.05.2002 (Ist Sitting)

(Eastern Zone, Guwahati)
27. A is B’s bother, C is A’s mother,

D is C’s father, E is B’s son, How
is B related to D?
(1) Son
(2) Granddaughter
(3) Grandfather
(4) Great grandfather

(SSC Combined Matric Level (PRE)
Exam. 05.05.2002 (IInd Sitting)

(Eastern Zone, Guwahati)
28. A is B’s brother, C is A’s mother,

D is C’s father, F is A’s son. How
is B related to F’s child?
(1) Aunt (2) Cousin
(3) Nephew (4) Grandfather

(SSC Combined Matric Level (PRE)
Exam. 05.05.2002 (Ist Sitting)

(North Zone, Delhi)
29. A is B’s daughter. B is C’s mother.

D is C’s brother. How is D related
to A?
(1) Father (2) Grandfather
(3) Brother (4) Son

(SSC Combined Matric Level (PRE)
Exam. 05.05.2002 (Ist Sitting)

(North Zone, Delhi)

30. A is D’s brother. D is B’s father.
B and C are Sisters. How is C
related to A ?
(1) Cousin (2) Niece
(3) Aunt (4) Nephew

SSC Combined Matric Level (Pre)
Exam. 05.05.2002 (IInd Sitting)

 (North Zone Delhi)
31. A is B’s brother, C is A’s mother,

D is C’s father, E is B’s son. How
is D related to E?
(1) Grandson
(2) Great Grandson
(3) Great Grandfather
(4) Grandfather

SSC Combined Matric Level (Pre)
Exam. 12.05.2002 (Ist Sitting)

32. X and Y are the children of A. A
is the father of X but Y is not his
son. How is Y related to A?
(1) Sister (2) Brother
(3) Son (4)  Daughter

SSC Combined Matric Level (Pre)
Exam. 12.05.2002 (Ist Sitting)

33. A is B’s brother, C is A’s mother,
D is C’s father, E is B’s son. How
is E related to A?

(1) Cousin (2) Nephew
(3) Uncle (4) Grandson

SSC Combined Matric Level (Pre) Exam.
12.05.2002 (IInd Sitting)

34. Based on the statements, given
below, find out who is the uncle
of ‘P’?
K is the brother of J.
M is the sister of K.
P is the brother of N.
N is the daughter of J.
(1) K (2) J
(3) N (4) M

SSC Combined Matric Level (Pre)
Exam. 16.06.2002 (Re-Exam)

35. A and B  are sisters.  A  is moth-
er of D. B has a daughter C who
is married to F. G is the husband
of A. How is C related to D?
(1) Cousin (2) Niece
(3) Aunt (4) Sister-in-law

SSC Combined Matric Level (Pre)
Exam. 30.07.2006 (Ist Sitting)

 (East Zone)

36. R and S are brothers, X is the
sister of Y and X is the mother of
R. What is Y to S?
(1) Uncle (2) Brother
(3) Father (4) Mother

SSC Combined Matric Level (Pre)
Exam. 30.07.2006 (IInd Sitting)

 (Central Zone)
37. A is B’s brother, C is A’s mother,

D is C’s father, B is D’s grand-
daughter. How is B related to F
who is A’s son ?
(1) Aunt (2) Cousin
(3) Niece (4) Grandaunt

SSC Combined Matric Level (Pre)
Exam. 30.03.2008 (Ist Sitting)

38. A is the son of B, while B and C
are sisters to one another. E is
the mother of C. If D is the son
of E, which of the following state-
ments is correct?
(1) D is the maternal uncle of A
(2) E is the brother of B
(3) D is the cousin of A
(4) B and D are brothers

(SSC DEO Exam. 31.08.2008)
39. P is the father of T. T is the

daughter of M. M is the daughter
of K. What is P to K ?
(1) Father (2) Father-in-law
(3) Brother (4) Son-in-law

SSC Stenographer (Grade'C & D')
 Exam. 26.09.2010

40. A and B are brothers. E is the
daugther of F. F is the wife of B.
What is the relation of E to A ?
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(1) sister (2) daugther
(3) niece (4) sister-in-law

(SSC Higher Secondary Level
 Data Entry Operator & LDC

Exam. 28.11.2010 (Ist sitting)
41. M and F are a married couple. A

and B are sisters. A is the sister
of F. Who is B to M ?
(1) Sister (2) Sister-in-law
(3) Niece (4) Daughter

(SSC Higher Secondary Level
 Data Entry Operator & LDC

Exam. 28.11.2010 (IInd sitting)
42. If A is the mother of D, B is not

the son of C, C is the father of
D, D is the sister of B, then how
is A related to B ?
(1) Mother (2) Brother
(2) Step son (4) Sister
(SSC Stenographer Grade 'C' & 'D'

Exam. 09.01.2011)
43. A and B are brother and sister

respectively. C is A’s father, D is
C’s sister and E is D’s mother.
How is B related to E ?
(1) Grand-daughter
(2) Great-grand-daughter
(3) Aunt
(4) Daughter
(SSC Multi-Tasking (Non-Technical)

Staff  Exam. 20.02.2011)
44. Q is the son of P, X is the

daughter of Q, R is the aunty
(Bua) of X and L is the son of R,
then what is L to P ?
(1) Grandson
(2) Granddaughter
(3) Daughter (4) Nephew
(SSC Multi-Tasking (Non-Technical)

Staff  Exam. 27.02.2011)
45. P and Q are brothers. R and S

are sisters. P’s son is S’s broth-
er. How is Q related to R ?
(1) Uncle (2) Brother
(3) Father (4) Grandfather

SSC (10+2) Level Data Entry Operator
& LDC Exam. 04.12.2011 (IInd Sitting

(North Zone)
46. A and B are the young ones of C.

If C is the mother of B, but A is
not the daughter of C, then what
is the relationship between C and
A ?
(1) Nephew and Aunty
(2) Brother and Sister
(3) Mother and Son
(4) Niece and Aunty

SSC (10+2) Level Data Entry
Operator & LDC Exam. 11.12.2011

 (Ist Sitting (East Zone)

47. A is the mother of D and sister of
B. B has a daughter C who is
married to F. G is the husband
of A. How is G related to D ?
(1) uncle (2) husband
(3) son (4) father

(SSC Level Data Entry Operator &
LDC Exam. 21.10.2012 (IInd Sitting)

48. Pointing towards A, B said “your
mother is the younger sister of
my mother”. How is A related to
B ?
(1) Uncle (2) Cousin
(3) Nephew (4) Father
(SSC Level Data Entry Operator &

LDC Exam. 28.10.2012 (Ist Sitting)
49. A is B’s wife’s husband’s broth-

er. C and D are sisters of B. How
is A related to C ?
(1) Brother (2) Sister-in-law
(3) Wife (4) Sister

(SSC CGL Tier-I
Re-Exam–2013, 27.04.2014)

50. A and B are brothers. C and D
are sisters. A’s son is D’s broth-
er. How is B related to C?
(1) Father (2) Brother
(3) Uncle (4) Son

(SSC CAPFs SI, CISF ASI & Delhi
Police SI Exam. 22.06.2014)

51. A is B’s sister. C is B’s mother.
D is C’s father. E is D’s mother.
Then how is A related to D ?
(1) Grandmother
(2) Grandfather
(3) Daughter
(4) Granddaughter

(SSC CHSL (10+2) DEO & LDC
Exam. 16.11.2014, Patna Region :

Ist Sitting & Bihar SSC CGL
Main Exam–27.01.2013)

52. P, Q, R, S, T, U are 6 members
of a family in which there are two
married couples. T, a teacher is
married to a doctor who is moth-
er of R and U. Q, the lawyer is
married to P - P has one son and
one grandson. Of the two mar-
ried ladies one is a house wife.
There is also one student and one
male engineer in the family.
Which of the following is true
about the grand-daughter of the
family ?
(1) She is a lawyer
(2) She is an engineer
(3) She is a student
(4) She is a doctor
(SSC CGL Tier-I Exam, 09.08.2015

(IInd Sitting) TF No. 4239378)

53. Six members of a family namely
A, B, C, D, E and F are travel-
ling together. ‘B’ is the son of C
but C is not the mother of B. A
and C are married couple. E is
the brother of C. D is the daugh-
ter of A. F is the brother of B.
How many male members are
there in the family?
(1) 3 (2) 2
(3) 4 (4) 1
(SSC CGL Tier-I Exam, 16.08.2015

(IInd Sitting) TF No. 2176783)
54. A’s mother is sister of B and has

a daughter C. How can A be re-
lated to B from among the fol-
lowing?

(1) Niece (2) Uncle

(3) Daughter (4) Father
(SSC (10+2) Stenographer Grade

‘C’ & ‘D’ Exam. 31.01.2016
TF No. 3513283)

55. A and B are a married couple. C
and D are brothers. C is the brother
of A. How is D related to B ?
(1) Brother
(2) Son–in–law
(3) Cousin
(4) Brother–in–law
(SSC (10+2) Stenographer Grade ‘C’

& ‘D’ Exam. 31.07.2016)

56. A and B are married couple. X
and Y are brothers. X is the broth-
er of A. How is Y related to B ?
(1) Brother-in-law
(2) Brother
(3) Son-in-law
(4) Cousin

(SSC CGL Tier-I (CBE)
Exam.11.09.2016) (Ist Sitting)

57. A man ‘P’ goes to a party hosted
by his brother ‘Q’ who has a
daughter M. M is dancing with
her brother ‘N’. How is ‘P’ related
to ‘N’ ?
(1) Nephew (2) Father
(3) Uncle (4) Cousin

(SSC CPO Exam. 06.06.2016)(Ist Sitting)

Directions (58–59) % Read the
following information carefully and an-
swer the questions based on it :
(SSC CPO Exam. 06.06.2016) (Ist Sitting)

There is a family of six persons
P, Q, R, S, T and U. They are Lawyer,
Doctor, Teacher, Salesman, Engineer
and Manager. There are two married
couples in the family. S, the Salesman
is married to the Lady Teacher. The
Doctor is married to the Lawyer. U,
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the Manager, is the son of Q and broth-
er of T. R, the Lawyer, is the daugh-
ter-in-law of P. T is the unmarried En-
gineer. P is the grandmother of U.
58. Which of the following is one of

the married couples ?
(1) T and R (2) P and S
(3) S and Q (4) T and P

59. What is the profession of P ?
(1) Lawyer (2) Engineer
(3) Doctor (4) Teacher
Directions (60–61) % Read the

following information carefully and an-
swer the questions based on it.
(SSC CPO Exam. 06.06.2016) (Ist Sitting)

A family consists of six members
A, B, C, D, E and F. There are two
married couples. B is a doctor and the
father of E. F is the grandfather of C
and is a contractor, D is grandmother
of E and is a housewife. There is one
doctor, one contractor, one nurse, one
housewife and two students in the family.
60. What is the profession of A ?

(1) Doctor (2) Contractor
(3) Nurse (4) Housewife

61. Who is the husband of A ?
(1) C (2) B
(3) F (4) D

62. If A is the mother of B and K, D
is the husband of A. E is the son
of D’s brother, what is the rela-
tion of A with E ?
(1) Mother – in – law
(2) Sister – in – law
(3) Aunt (4) Sister

(SSC CHSL (10+2) Tier-I (CBE)
Exam. 08.09.2016) (Ist Sitting)

63. A is D’s brother. D is B’s father.
B and C are sisters. How is C
related to A?
(1) Cousin (2) Niece
(3) Aunt (4) Nephew

(SSC CGL Tier-I (CBE)
Exam. 09.09.2016) (Ist Sitting)

64. X and Y are brothers. R is the
father of Y. T is the sister of S
who is maternal uncle of X. How
is T related to R ?
(1) Mother (2) Wife
(3) Sister (4) Brother

(SSC CGL Tier-I (CBE)
Exam. 27.08.2016) (Ist Sitting)

65. P and Q are sisters. R and S are
brothers. P’s daughter is R’s sister.
What is Q’s relation to S ?
(1) Mother (2) Grandmother
(3) Sister (4) Aunt

(SSC CGL Tier-I (CBE)
Exam. 28.08.2016) (IInd Sitting)

66. X is the husband of Y. W is the
daughter of X. Z is the husband
of W. N is the daughter of Z. What
is the relationship of N to Y ?
(1) Cousin
(2) Niece
(3) Daughter
(4) Granddaughter

(SSC CGL Tier-I (CBE)
Exam. 30.08.2016) (Ist Sitting)

67. ‘A’ is the sister of ‘B’. ‘B’ is mar-
ried to ‘D’. ‘B’ and ‘D’ have a
daughter ‘G’. How is ‘G’ related
to ‘A’ ?
(1) Sister (2) Daughter
(3) Niece (4) Cousin

(SSC CGL Tier-I (CBE)
Exam. 01.09.2016) (Ist Sitting)

68. F is the brother of A. C is the
daughter of A. K is the sister of
F, G is the brother of C. Who is
the uncle of G?
(1) A (2) C
(3) K (4) F

(SSC CGL Tier-I (CBE)
Exam. 03.09.2016) (IInd Sitting)

69. If M is the sister of Z , Z is the
wife of P and P is the son of A,
how is Z related to A?
(1) Daughter-in-law
(2) Daughter
(3) Wife
(4) Mother

(SSC CGL Tier-I (CBE)
Exam. 07.09.2016) (Ist Sitting)

70. M is son of P, Q is the grand-
daughter of O, who is the
husband of P. How is M related
to O ?
(1) Son (2) Daughter
(3) Mother (4) Father

(SSC CGL Tier-I (CBE)
Exam. 01.09.2016) (IInd Sitting)

71. A is mother of B , C is son of A,
D is brother of E, E is daughter
of B. Who is the grandmother of
E?
(1) A (2) B
(3) C (4) D

(SSC CGL Tier-I (CBE)
Exam. 06.09.2016) (IIIrd Sitting)

72. A is B’s brother, C is A’s mother,
D is C’s father, F is A’s son. How
is A related to F’s child?
(1) Aunt (2) Cousin
(3) Nephew (4) Grandfather

(SSC CGL Tier-I (CBE)
Exam. 08.09.2016) (IIIrd Sitting)

73. ‘A’ and ‘B’ are brothers. ‘C’ and
‘D’ are sisters. A’s son is D’s
brother. How is B related to C?
(1) Father (2) Brother
(3) Grandfather(4) Uncle

(SSC CGL Tier-I (CBE)
Exam. 03.09.2016) (IInd Sitting)

74. M is brother of N. B is brother of
N. M is brother of D. But N is not
brother of D. How is N related to
D ?
(1) Nephew (2) Cousin
(3) Sister (4) Brother

(SSC CGL Tier-I (CBE)
Exam. 04.09.2016) (IInd Sitting)

TYPE–II

1. Rajiv is the brother of Atul. Sonia
is the sister of Sunil. Atul is the
son of Sonia. How is Rajiv related
to Sonia ?
(1) Nephew (2) Son

(3) Brother (4) Father
(SSC CPO Sub-Inspector

Exam.12.01.2003)
2. Sita is the niece of Ashok.

Ashok’s mother is Lakshmi.
Kalyani is Lakshmi’s mother.
Kalyani’s husband is Gopal.
Parvathi is the mother-in-law of
Gopal. How is Sita related to
Gopal ?
(1) Great grandson’s daughter
(2) Gopal is Sita’s father
(3) Sita is Gopal’s great grand-

daughter
(4) Grand niece

(SSC CPO Sub-Inspector
Exam. 26.05.2005)

3. Seema is the daughter-in-law of
Sudhir and sister -in-law of
Ramesh. Mohan is the son of
Sudhir and only brother of
Ramesh. Find the relation be-
tween Seema and Mohan.
(1) Sister-in-law (2) Aunt
(3) Cousin (4) Wife

(SSC Combined Graduate Level Prelim
Exam.13.11.2005 (IInd Sitting)

4. Suresh introduces a man as “He
is the son of the woman who is
the mother of the husband of my
mother”. How is Suresh related
to the man ?
(1) Uncle (2) Son
(3) Cousin (4) Grandson

(SSC CPO Sub-Inspector
Exam. 03.09.2006)
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5. Pointing to a lady in a photograph,
Meera said, “Her father’s only
son’s wife is my mother-in -law”.
How is Meera’s husband related
to that lady in the photo?
(1) Nephew (2) Uncle
(3) Son (4) Father

(SSC CPO Sub-Inspector
Exam. 09.11.2008)

6. Pointing to a photograph Vikas
said “She is the daughter of my
grandfather’s only son”. How is the
related to Vikas in the photo-
graph ?
(1) Father (2) Brother
(3) Sister (4) Mother

(SSC CPO Sub-Inspector
Exam. 06.09.2009)

7. Suresh’s sister is the wife of Ram.
Ram is Rani’s brother. Ram’s
father is Madhur. Sheetal is Ram’s
grandmother. Rema is Sheetal’s
daughter-in-law. Rohit is Rani’s
brother’s son. Who is Rohit to
Suresh?
(1) Brother-in-law (2) Son
(3) Brother (4) Nephew

(SSC Combined Graduate Level Prelim
Exam.19.06.2011 (Ist Sitting)

8. Vinod introduces Vishal as the
son of the only brother of his
father’s wife. How is Vinod related
to Vishal ?
(1) Cousin (3) Brother
(2) Son (4) Uncle

(SSC Combined Graduate Level Prelim
Exam.19.06.2011(IInd Sitting)

9. Among her children, Ganga’s
favourites are Ram and Rekha.
Rekha is the mother of Sharat,
who is loved most by his uncle
Mithun. The head of the family is
Ram Lal, who is succeeded by
his sons Gopal and Mohan. Gopal
and Ganga have been married for
35 years and have 3 children.
What is the relation between
Mithun and Mohan?
(1) Uncle (2) Son

(3) Brother (4) No relation
(SSC Combined Graduate Level Tier-1

Exam. 26.06.2011 (Ist Sitting)

10. Rahul and Robin are brothers.
Pramod is Robin’s father. Sheela
is Pramod’s sister. Prema is
Pramod’s niece. Shubha is
Sheela’s granddaughter. How is
Rahul related to Shubha?

(1) Brother (2) Cousin
(3) Uncle (4) Nephew
(SSC Combined Graduate Level Tier-

1 Exam. 26.06.2011(IInd Sitting)

11. Preeti has a son, named Arun.
Ram is Preeti’s brother. Neeta
too has a daughter named
Reema. Neeta is Ram’s sister.
What is Arun’s relationship to
Reema?
(1) Brother (2) Nephew
(3) Cousin (4) Uncle
(SSC Combined Matric Level (PRE)

Exam. 21.05.2000 (Ist Sitting)
(Middle Zone)

12. There are 2 film stars. One is the
father of the other’s son. What is
the relationship of the two with
each other?
(1) Grandfather and Grandson
(2) Grandfather and son
(3) Husband and wife
(4) Father and Son

(SSC Combined Matric Level (PRE)
Exam. 21.05.2000 (IInd Sitting)

 (Middle Zone, Allahabad)
13. Ramu’s mother said to Ramu, “My

mother has a son whose son is
Achyut”. How is Achyut related
to Ramu ?
(1) Uncle (2) Cousin
(3) Brother (4) Nephew

SSC Data Entry Operator
Exam. 02.08.2009

14. Ravi’s father has a son Rohit who
has an aunt Laxmi who has a
husband Rao whose father-in-
law is Mohan. What is the rela-
tion of Mohan to Ravi ?
(1) Nephew (2) Grandfather
(3) Son (4) Uncle

(SSC Higher Secondary Level Data Entry
Operator & LDC Exam. 27.11.2010)

15. Vijay says “Ananda’s mother is
the only daughter of my mother”.
How is Ananda related to Vijay?
(1) Brother (2) Father
(3) Nephew (4) Grand Father

(SSC CISF Constable (GD)
Exam. 05.06.2011)

16. Introducing a man, a woman
said, “His wife is the only daugh-
ter of my mother.” How is the
woman related with the man ?
(1) Sister-in-law
(2) Wife (3) Aunt
(4) Mother-in-law

(SSC Stenographer (Grade 'C' & 'D')
Exam. 16.10.2011)

17. A prisoner introduced a boy who
came to visit him to the jailor as
“Brothers and sisters I have
none, he is my father’s son’s
son”. Who is the boy ?
(1) Nephew (2) Son
(3) Cousin (4) Uncle

SSC (10+2) Level Data Entry Operator
& LDC Exam. 04.12.2011
 (Ist Sitting) (North Zone)

18. Pointing to a girl in a bus, a man
tells his friend “She is the daugh-
ter of the only son of my father’s
wife”. How is the girl related to
the man?
(1) Cousin (2) Daughter
(3) Mother (4) Sister

SSC (10+2) Level Data Entry Operator
& LDC Exam. 04.12.2011

 (Ist Sitting (East Zone)

19. Pointing to Mala, Kala said, “She
is my brother’s only sister’s
daughter.’” How is Mala related
to Kala ?
(1) Mother (2) Daughter
(3) Aunt (4) Niece

SSC (10+2) Level Data Entry Operator
& LDC Exam. 04.12.2011
 (IInd Sitting (East Zone)

20. Showing a man a woman said,
“his brother’s father is the only
son of my grandfather”. How is
the woman related to the man?
(1) Aunt (2) Sister

(3) Daughter (4) Mother
SSC (10+2) Level Data Entry Operator

& LDC Exam. 11.12.2011
 (Ist Sitting (Delhi Zone)

21. Looking at a photograph a person
said “I have no brother or sister
but that man’s father is my
father’s son”. At whose photograph
was the person looking at ?
(1) His son’s (2) His nephew

(3) His father’s (4) His own
SSC (10+2) Level Data Entry Operator

 & LDC Exam. 11.12.2011
 (IInd Sitting (Delhi Zone)

22. Mathew told his friend Sham,
pointing to a photograph, “Her
father is the only son of my moth-
er.” The photograph is of whom?
(1) Mathew’s niece
(2) Mathew’s mother
(3) Mathew’s daughter

(4) Mathew’s sister
SSC (10+2) Level Data Entry Operator

& LDC Exam. 11.12.2011
 (IInd Sitting (East Zone)
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23. Raghu and Babu are twins. Ba-
bu’s sister is Keema. Reema’s
husband is Rajan. Raghu’s moth-
er is Lakshmi. Lakshmi’s hus-
band is Rajesh. How is Rajesh
related to Rajan ?
(1) Father-in-law  (2) Cousin
(3) Uncle   (4) Son-in-law

(SSC Level Data Entry Operator &
LDC Exam. 21.10.2012 (Ist Sitting)

24. Sheela is Ravi’s sister-in-law.
Ram is Ravi’s brother. Ram’s wife
is Sheela. Deepa is Ravi’s sister.
Deepa’s mother is Shanthi. How
is Sheela related to Shanthi ?
(1) Mother-in-law
(2) Daughter-in-law
(3) Granddaughter
(4) Daughter

(SSC Level Data Entry Operator &
LDC Exam. 21.10.2012 (IInd Sitting)

25. Shyama says that father of Rajiv’s
father is my father. How Shyama
is related to Rajiv?
(1) Mother
(2) Father’s sister (aunt)
(3) Niece
(4) Sister
(SSC Level Data Entry Operator &

LDC Exam. 21.10.2012 (IInd Sitting)
26. Tarun is the father of Rohit. Ro-

hit is the brother of Kala. Kala is
the wife of Dilip. How is Dilip re-
lated to Rohit ?
(1) Brother-in-law
(2) Father-in-law
(3) Son (4) Uncle

(SSC Assistant Grade-III
Exam. 11.11.2012 (IInd Sitting)

27. Kusuma is the wife of Ravi.
Govind and Prabhu are brothers.
Govind is the brother of Ravi.
Prabhu is Kusuma’s.
(1) Cousin (2) Brother
(3) Brother-in-law (4) Uncle

(FCI Assistant Grade-II
Exam.22.01.2012 Paper-I)

28. Savitha introduced a boy as the
son of the only daughter of the
father of her maternal uncle. How
is boy related to Savitha ?
(1) Brother (2) Son
(3) Nephew (4) Son-in-law

FCI Assistant Grade-III Exam. 25.02.2012
(Paper-I) North Zone (Ist Sitting)

29. Gopal said, pointing to Govind
“His father is my father’s only
son”. How is Gopal related to
Govind ?

(1) Grandfather (2) Grandson
(3) Son (4) Father

FCI Assistant Grade-III Exam. 05.02.2012
(Paper-I) East Zone (IInd Sitting)

30. Pointing towards a woman in a
photograph Vijay said, “She is
the daughter of the father of sister
of my brother”.  How is the lady
in the photograph related to Vijay?
(1) Wife (2) Mother
(3) Sister (4) Daughter

(SSC (10+2) Level Data Entry Operator
& LDC Exam. 04.11.2012, Ist Sitting)

31. Rajiv is the brother of Arun. So-
nia is the sister of Sunil. Arun is
the son of Sonia. How is Rajiv
related to Sunil ?
(1) son (2) brother
(3) father (4) nephew

(SSC (10+2) Level Data Entry Operator
& LDC Exam. 04.11.2012, Ist Sitting)

32. A boy introduced a girl as the
daughter of the son of the moth-
er of his aunt. The girl is boy’s :
(1) Sister (2) Cousin sister
(3) Sister-in-law(4) Aunt

(SSC Multi-Tasking Staff
Exam. 10.03.2013)

33. Sunil is the son of Kesav. Simran,
Kesav’s sister, has a son Maruti
and daughter Sita. Prem is the
maternal uncle of Maruti. How is
Sunil related to Maruti ?
(1) Nephew (2) Cousin
(3) Uncle (4) Brother

(SSC Graduate Level Tier-I
Exam. 19.05.2013, Ist Sitting)

34. A man showed a boy next to him
and said – “He is the son of my
wife’s sister-in-law, but I am the
only child of my parents.” How is
my son related to him ?
(1) Nephew (2) Cousin
(3) Brother (4) Uncle

(SSC Graduate Level Tier-I
Exam. 19.05.2013, Ist Sitting)

35. Arun said, “This girl is the wife
of the grandson of my mother”.
Who is Arun to the girl ?
(1) Grandfather (2) Husband
(3) Father-in-law (4) Father

(SSC CAPFs SI & CISF ASI
Exam. 23.06.2013)

36. Maya said, “My mother is the sis-
ter of Ranjeet’s brother”. What is
Ranjeet’s relation with Maya ?
(1) Cousin (2) Maternal uncle
(3) Uncle (4) Brother-in-law

(SSC MTS (Non-Tech.) Exam. 16.02.2014)

37. Pointing towards a boy Veena
said, “He is the son of only son
of my grandfather.” How is that
boy related to Veena ?
(1) Uncle (2) Brother

(3) Cousin (4) Nephew
(SSC Multi-Tasking Staff

(Patna) Exam. 16.02.2014)
38. Introducing Asha to guests,

Bhaskar said, “Her father is the
only son of my father.” How is
Asha related to Bhaskar ?
(1) Niece
(2) Grand-daughter
(3) Mother
(4) Daughter

(SSC Multi-Tasking (Non-Tech.) Staff
Exam. 23.02.2014, IInd Sitting)

39. Looking at a woman sitting next
to him, Amit said, “She is the sis-
ter of the husband of my wife”.
How is the woman related to Amit ?
(1) Daughter (2) Sister
(3) Wife (4) Niece

(SSC CGL Tier-I
Re-Exam–2013, 27.04.2014)

40. Pointing to a man, a lady said,
“His mother is the only daughter
of my mother”. How is the lady
related to the man?

(1) Mother (2) Daughter
(3) Sister (4) Aunt

(SSC CAPFs SI, CISF ASI & Delhi
Police SI Exam. 22.06.2014 & Bihar

SSC CGL Main Exam–27.01.2013)

41. Pointing to Vinod, Radha said,
“His sister is my mother’s only
daughter”. How is Radha related
to Vinod ?
(1) Cousin (2) Daughter
(3) Mother (4) Sister

(SSC GL Tier-I Re-Exam. (2013)
20.07.2014, Ist Sitting)

42. Pointing to a man in a photograph,
a woman said, “His brother’s father
is the only son of my grandfather.”
How is the woman related to the
man in the photograph ?
(1) Daughter (2) Mother
(3) Aunt (4) Sister

(SSC GL Tier-I Re-Exam. (2013)
20.07.2014, IInd Sitting)

43. Anjali says, “He is the only son of
the father of my sister’s brother.”
How is that person related to
Anjali ?
(1) Uncle (2) Cousin
(3) Brother (4) Father

(SSC GL Tier-I Exam. 26.10.2014)
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44. Looking at the portrait of a man,
Ram said, “His mother is the wife
of my father’s son. Brothers and
sisters I have none”. Whose por-
trait was Ram looking at ?
(1) His grandfather
(2) His son (3) His brother
(4) His cousin

(SSC CHSL (10+2) DEO & LDC
Exam. 02.11.2014, Patna Region :

(Ist Sitting)

45. Suket has three daughters and
each daughter has a brother. How
many male members are there in
the family ?
(1) 4 (2) 2

(3) 3 (4) 1
(SSC CGL Tier-I Exam. 19.10.2014

TF No. 022 MH 3)
46. Introducing a man, a woman said

“His mother is the only daughter
of my father”. How is the man
related to the woman?

(1) Brother (2) Son

(3) Father (4) Uncle
(SSC CGL Tier-I Exam, 16.08.2015

(Ist Sitting) TF No. 3196279)

47. Ramesh has brother Suresh.
Ramesh is the son of Gopal.
Govind is Gopal’s father. How is
Suresh related to Govind?
(1) Son (2) Brother
(3) Grandson (4) Grandfather

(SSC CGL Tier-I Re-Exam, 30.08.2015)

48. Karan has a brother ‘Prem’ and a
sister ‘Neesha’. Karan’s wife is ‘Naj’
and has a daughter ‘Naksha’. Nak-
sha got married with Neesha’s son
Akbar and has a baby girl ‘Riya’.
What is relation between ‘Naksha’
and ‘Neesha’?
(1) Sister
(2) Niece and Aunt
(3) Mother and Daughter
(4) Mother and  Granddaughter

(SSC CHSL (10+2) LDC, DEO & PA/SA
Exam, 01.11.2015, IInd Sitting)

49. Prema has a son named Anand.
Rajiv is Prema’s brother. Neha
has a daughter named Rashmi.
Neha is Rajiv’s sister. What is
Anand’s relationship to Rashmi ?
(1) Nephew (2) Uncle
(3) Brother-in-law
(4) Cousin

(SSC CHSL (10+2) LDC, DEO
& PA/SA  Exam,  15.11.2015
(Ist Sitting) TF No. 6636838)

50. Introducing Reeta, Monica said,
“She is the only daughter of my
father’s only daughter.” How is
Monica related to Reeta?
(1) Aunt (2) Niece
(3) Cousin (4) Mother

(SSC CGL Tier-I (CBE) Exam.10.09.2016)

51. Indtroducing a boy, Rama said,
“His sister’s father is the only
grandson of my grandfather”.
How is Rama related to the boy?
(1) Sister (2) Aunt
(3) Daughter (4) Mother

(SSC CPO SI, ASI Online
Exam.05.06.2016) (IInd Sitting)

52. Babita is Ajay’s wife and Chiranjiv
is Divya’s father. If Ajay’s mother-
in-law is wife of Divya’s grandfa-
ther, then what is the relation of
Babita with Chiranjiv’s wife ?
(1) Sister-in-law (2) Sister
(3) Cousin (4) Nephew

(SSC CPO SI & ASI, Online
Exam. 06.06.2016) (IInd Sitting)

53. A woman pointing to a man said,
“He is the widower of my uncle’s
brother’s daughter.” How is the
man related to the woman ?
(1) Brother-in-law
(2) Brother

(3) Uncle
(4) Nephew

(SSC CGL Tier-I (CBE)
Exam. 29.08.2016) (IInd Sitting)

54. Rajiv is the brother of Arun. So-
nia is the sister of Sunil. Arun is
the son of Sonia. How is Rajiv
related to Sunil?
(1) nephew (2) son
(3) brother (4) father

(SSC CGL Tier-I (CBE)
Exam. 04.09.2016) (Ist Sitting)

55. Pointing Rajesh in the photo-
graph, Sunita said,’ The only son
of his mother is my father’. How
is Sunita related to Rajesh?
(1) Niece (2) Aunt
(3) Mother (4) Daughter

(SSC CGL Tier-I (CBE)
Exam. 06.09.2016) (Ist Sitting)

56. Introducing a lady, a lady said, “She
is the only daughter of Mohan’s
grandfather who is my husband’s
father”. How does the lady relate
herself with the introduced lady?
(1) Aunt (2) Mother
(3) Mother-in-law(4) Sister-in-law

(SSC CGL Tier-I (CBE)
Exam. 30.08.2016) (IInd Sitting)

57. Mithilesh said to Neha, ‘Your only
brother’s son is my wife’s broth-
er.’ How is Neha related to the
wife of Mithilesh?

(SSC CGL Tier-I (CBE)
Exam. 31.08.2016) (IInd Sitting)

58. Prema is Ajay’s sister. Benita is
Ajay’s mother. Benjamin is Benita’s
father. Leela is Benjamin’s mother.
How is Prema related to Leela?
(1) Daughter-in-law
(2) Daughter
(3) Grand Daughter
(4) Great Grand Daughter

(SSC CGL Tier-I (CBE)
Exam. 01.09.2016) (Ist Sitting)

59. Anand is son of Prema. Rajeev is
brother of Prema. Neha is
daughter of Rashmi. Neha is
sister of Rajeev. How is Anand
related to Rashmi ?
(1) Son
(2) Grand Son
(3) Grand father
(4) Grand daughter

(SSC CGL Tier-I (CBE)
Exam. 02.09.2016) (Ist Sitting)

60. Introducing a woman, a man said
“Her mother is the only daughter
of my mother-in-law”. How is the
man related to the woman ?
(1) Son (2) Brother
(3) Husband (4) Father

(SSC CGL Tier-I (CBE)
Exam. 28.08.2016) (Ist Sitting)

61. A man said to a lady, “Your
mother’s husband’s sister is my
mother.” How is the man related
to the lady?
(1) Cousin (2) Brother
(3) Son (4) Nephew

(SSC CGL Tier-I (CBE)
Exam. 03.09.2016) (IIIrd Sitting)

62. Pointing towards a photo, Rakesh
said, “She is the daughter of the
only son of my grandfather.” How
is the girl related to Rakesh?
(1) Sister (2) Daughter
(3) Granddaughter
(4) Cousin

(SSC CGL Tier-I (CBE)
Exam. 06.09.2016) (IIIrd Sitting)

63. Pointing to the lady in the
photograph, Seema said, “Her
son’s father is the son-in-law of
my mother”. How is Seema
related to the lady?

(1) Aunt (2) Mother-in-law
(3) Sister (4) Mother
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(58–59) :

Member Gender Profession Relationship

P Female Lady Teacher Wife of S ; Mother of Q ;
Mother-in-law of R ;
Grandmother of T and U.

Q Male Doctor Son of P and S ; Husband of
R ; Father of T and U

R Female Lawyer Daughter-in-law of P and S ;
Wife of Q ; Mother of T and U

S Male Salesman Husband of P ; Father of Q ;
Grandfather of T and U ;
Father-in-law of R.

T Not Given Engineer Child of Q and R ; Grandchild
of P and S

U Male Manager Son of Q and R ; Grandson of
P and S ; Brother of T

58. (2) Married couples are : (Q and R) and (P and S).
59. (4) P is a Lady Teacher.

(60–61) :

Member Gender Profession Relationship

A Female Nurse Wife of B ; Mother of C and E

B Male Doctor Father of E and C ; Son of D and F ;

Husband of A

C — Student Grandchild of D and F ; Child of A

and B

D Female Housewife Grandmother of E and C ; Mother

of B; Wife of F

E — Student Grandchild of D and F ; Child of A

and B

F Male Contractor Grandfather of C and E; Father of

B ; Husband of D

Therefore, A is the grandmother
of E.

72. (4) C is the mother of A and B.
D is the father of C.
F is the son of A.
A is the father of F.
Therefore, A is the grandfather of
F’s child.

73. (4) Son of A is brother of D.
C and D are daughters of A.
B is brother of A.
Therefore, B is uncle of C.

74. (3) M and B are brothers of D and
N.
N is the sister of B, D and M.

TYPE-II

1. (2) Sonia is mother of Atul and
Rajiv.
Rajiv is son of Sonia.

2. (3) Sita is granddaughter of
Lakshmi.
Gopal is father of Lakshmi.
Therefore, Sita is great grand-
daughter of Gopal.

3. (4) Seema is the daughter-in-law
of Sudhir
Mohan is the son of Sudhir.
Seema is the sister-in-law of
Mohan's only brother Ramesh.
Therefore, Seema is the wife of
Mohan

4. (2) Husband of Suresh's mother
means father of Suresh.
Mother of Suresh's father means
grandmother of Suresh.
The son of grandmother means
either father or uncle.
Therefore, Suresh is the son of
that man.
[Note : Nephew is not mentioned
in the options]

5. (1) The wife of brother of woman
in photograph is mother-in-law of
Meera.
Meera is daughter-in-law of
brother of that woman.
Therefore, the husband of Meera
is nephew of that woman.

6. (3) The only son of grandfather
(paternal) of Vikas means father
of Vikas.
Therefore, the girl is sister of Vikas.

7. (4) Ram is brother of Rani.
Rohit is son of Ram.
Suresh is maternal uncle of Rohit.
Therefore, Rohit is nephew of
Suresh.

60. (3) A is a Nurse.
61. (2) B is the husband of A.
62. (3) D is the husband of A.

E is the son of D’s brother.
Therefore, A is the aunt of E.

63. (2) D is father of B and C.
A is brother of D.
B and C are daughters of D.
Therefore, C is niece of A.

64. (2) R is the father of Y and X.
S is the maternal uncle of X and
Y.
So, T is the mother of X and Y.

Thus, T is the wife of R.
65. (4) P and Q are sisters.

R and S are sons of P.
Therefore, Q is aunt of S.

66. (4) W is the daughter of X and Y.
W is the wife of Z.

N is the daughter of W and Z.
Therefore, N is the granddaugh-
ter of Y.

67. (3) G is the daughter of B and D.
A is the sister of B.
Therefore, G is the niece of A.

68. (4) G is the brother of C.
C is the daughter of A.
G is the son of A.
F is the brother of A.

Therefore, F is the uncle of G.
69. (1) Z is the wife of P.

P is the son of A.
Therefore, Z is the daugher-in-
law of A.

70. (1) O is the husband of P.
M is the son of O and P.

71. (1) A is the mother of B.
E is the daughter of B.
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Therefore, there two male
members Þ Suket and his son.

46. (2) Only daughter of woman’s
father means the woman herself.
Therefore, the man is the son of
that woman.

47. (3) Ramesh and Suresh are sons
of Gopal.
Govind is father of Gopal.
Therefore, Suresh is grandson of
Govind.

48. (2) Naksha is the daughter of
Karan.
Neesha is the sister of Karan.
Therefore, Naksha is niece of
Neesha and Neesha is aunt of
Naksha.

49. (4) Anand is the son of Prema.
Rashmi is the daughter of Neha.
Neha is the sister of Prema.
Therefore, Anand is cousin of
Rashmi.

50. (4) Only daughter of Monica’s
father means Monica herself.
Therefore, Monica is the mother
of Reeta.

51. (2) Only grandson of Rama‘s
grandfather means brother of
Rama.
Brother of Rama is the father of
boy’s sister. It means, the brother
of Rama is also the father of boy.

52. (1) Babita is wife of Ajay.
Chiranjiv is father of Divya.
Wife of  Divya’s grandfather
means grandmother of Divys.
Grandmother of Divya is moth-
er-in-law of Ajay.
Therefore, Babita is daughter of
Divya’s grandmother.
Chiranjiv is brother of Babita.
Therefore, Babita is sister-in-law
of Chiranjiv’s wife.

53. (1) The brother of woman’s uncle
may be father of that woman.
The daughter of woman’s father
means sister of that woman.
The husband of woman’s sister
would be the brother-in-law of
that woman.

54. (1) Rajiv is the brother of Arun.
Arun is the son of Sonia.
Rajiv is the son of Sonia.
Sonia is the sister of Sunil.
Therefore, Rajiv is the nephew of
Sunil.

55. (4) Only son of Rajesh’s mother
means Rajesh himself.

Therefore, Sunita is the daugh-
ter of Rajesh.

56. (4) Mohan’s grandfather is the
father of husband of the lady who
introduced other lady.
The introduced lady is the daugh-
ter of Mohan’s grandfather.
Therefore, the lady is sister–in–
law of the introduced lady.

57. (1) Son of Neha’s only brother is
brother of Mithilesh’s wife. There-
fore, Neha is aunt of the wife of
Mithilesh.

58. (4) Benita is the mother of Ajay
and Prema.
Benjamin is the father of Benita.
Leela is the mother of Benjamin.
Leela is the grandmother of
Benita.
Therefore, Prema is the great
granddaughter or Leela.

59. (2) Anand is son of Prema.
Neha is sister of Rajeev and
Prema.
Rashmi is mother of Neha, Rajeev
and Prema.
Therefore, Anand is grandson of
Rashmi.

60. (4) Only daughter of  man’s
mother-in-law means the wife of
the man.
Man’s wife is the mother of the
woman in question.
Therefore, the man is the father
of that woman.

61. (1) The sister of lady’s mother’s
husband means aunt of the lady.
Aunt of the lady is the mother of
man.
Therefore, that man is cousin of
that lady.

62. (1) Only son of Rakesh’s
grandfather means father of
Rakesh.
The daughter of Rakesh’s father
would be sister of Rakesh.

63. (1) Son–in–law of Seema’s moth-
er means brother–in–law of See-
ma.
Therefore, Seema is the sister of
that lady.

64. (2) Only son of Meera’s grandfa-
ther means father of Meera. Son
of Meera’s father means brother
of Meera.

65. (1) Wife of Rita’s husband means
Rita herself.
Brother of Rita’s daughter means
son of Rita.
Therefore, B is uncle of C.

66. (2) The daughter of Rajan’s
mother means sister of Rajan.
The daughter of Rajan’s sister
would be niece of Rajan.

67. (3) Sheetal is a daughter of Golu.
Golu is son of Bhola.
Dilip is brother of Bhola.
Chitra is daughter of Dilip.
Sheetal is granddaughter of Bho-
la and Dilip.
Therefore, Chitra is aunt of
Sheetal.

68. (1) Lady’s brother’s wife is
mother-in-law of Meera. Meera’s
husband is nephew of that lady.

69. (2) Mohan is the son of Chanda
and Bharat.
Ashish is the brother of Bharat
and father of Dhruv.
Therefore, Mohan is cousin of
Dhruv.

70. (4) Grandson of Mohan’s mother
means son of Mohan. Therefore,
Mohan is father-in-law of that girl.~

71. (4) Father of woman’s mother’s
brother means grandfather of the
woman.
The sone of woman’s grandfa-
ther’s son means cousin of the
woman.

72. (4) The only son of Mrs. Mira’s
grandfather’s only child means the
brother of Mrs. Mira.

73. (1) Woman’s mother’s father
means maternal grandfather of
the woman.
Only son of maternal grandfather
means maternal uncle of the wom-
an.
Thus, the woman is the niece of
that man.

74. (3) Only son of the mother–in–law
of girl’s husband means brother
of the girl. The daughter-in-law of
the woman is obviously married
to girl’s brother.
Therefore, the girl is the daughter
of the woman.

75. (1) Ankur is brother of Sandeep.
Ankur and Sandeep are sons of
Kishan.
Baljor is Kishan’s father.
Therefore, Ankur is grandson of
Baljor.

76. (1) Wife of Rita’s husband means
Rita herself.
Brother of Rita’s daughter means
son of Rita.

❐ ❐ ❐
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